Blatt 4
Erganze die Rechenzeichen und berechne die Ergebnisse

Addition Subtraktion Multiplikation Division
1356 1235 9135 3 = 27405 956 4 = 239
13565 194
14921 1041
56936 913593
93136 9139 9836 19 = 186884
56 904454
5613
155741 861 : 3 = 287
968
913
1356 55 1993 193 = 384649
1353
913553
916262 183668
91359
92309
45 5439 : 19 = 286,2632
45463 9356 19 = 17776,4
336 9135
13565 4134
59409 5001
1356,13 568356 83,53 9,3 = 776,829
93,06 1913
569,01 566443 589 : 9,3 = 63,33333
2018,2
31351
91356 9135 38963,3 3 = 116889,9
9135 22216
9135
193
4539 193193
19134 9899
133492 183294 19135 : 3 = 6378,333
19135,6 3,89 = 74437,484
913 91353
938 913
9365 90440
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